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6 The measurement of macroeconomic performance
1	(a)	USA $55¦000 [1]; China $10¦068 [1]; India $4339 [1]; Germany $39¦354 [1]
	(b)	(i)	USA [1]; 	(ii)	India [1]
(c)	Any two from the following points, with sufficient explanation (up to 4 marks can be given for each point explained):
Have the data been adjusted for inflation?
Does the distribution of income mean it does not represent the majority of the population?
Was a PPP exchange rate used?
What about provision of merit and public goods?
Does military expenditure account for a significant proportion of government expenditure?
Non-financial factors (such as number of doctors, environmental factors, etc.) [8]
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